
Andrew bought:
1 pineapple
6 apples
6 bananas
4 tomatoes
a)  How much did Andrew spend?
b)  How much change did Andrew 
get from $50?

Extension 1:
Cathy bought some apples, 
oranges and bananas. She spent 
$14.60. 
How many of each fruit did she 
buy?

Extension 2:
Tim bought at least one of each 
type of fruit. He spent $24.90. 
How many of each fruit did Tim 
buy?

Sally wants to buy:
1 apple
1 orange
1 banana
2 tomatoes
4 cucumbers
Stan the fruit man told her he 
would only charge her based on 
the prices listed about (e.g. he 
would only charge her $1 per 
apple).
a) How much did Sally spend?
b) What is Sally’s change from $20?

Price List
Pineapples: $3.30 each
Apples: 3 for $3.00
Oranges: 5 for $2.50
Bananas: 3 for $1.20
Tomatoes: 4 for $1.00
Cucumbers: 4 for 80c
Watermelons: $4.50 each


